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1. Two Polyethylenes (LDPE and HDPE) 2. Poly(methyl methacrylate) (PMMA)
3. Poly(ethylene oxide) (PEO) 4. Polyurethane (PU) 5. Polyimide (PI)
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7) Calculate the number—average degree of polymerization of the product from an equimolar mixture of
terephthalic acid and ethylene glycol at the extents of reaction 0.95 and 0.995.

A) Calculate the highest attainable number—average degree of polymerization of the product from a
mixture of terephthalic acid and ethylene glycol (0.1mol% excess), and show the end—group structure of the

product.
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